Yo7y (/= 1 -

GP19170401202056 Montaj Talimati (Mountain Instruction)
GP Kompozit Yamaha NMAX 125 / 155 2021-2024 Uyumlu Elcikli Tur Cami Fiime

GP Kompozit Touring Windshield Windscreen With Handguard Smoked Compatible For Yamaha NMAX 125/ NMAX 155 2021-2024

Paket igerigi:
(Package Contents)

-4 Adet 5x35 pul basli civata
(4 pieces of 5x35 flange bolts)

-6 Adet 6x20x10 plastik takoz
(6 pieces of 6x20x10 plastic wedges)

-4 Adet M6 conta
(4 pieces of M6 washers)

-2 Adet ayak
(2 pieces of legs)

-2 Adet 5x25 pul basli civata
(2 pieces of 5x25 flange bolts)

-2 Adet M6 krom pul
(2 pieces of M6 chrome washers)

-2 Adet M6 plastik pul
(2 pieces of M6 plastic washers)

-2 Adet M5 somun
(2 pieces of M5 nuts)

-2 Adet grenaj civata
(2 pieces of fairing bolts)

Kullanilacak Takimlar:
(Necessary Tools)

-Yildiz Tornavida
(Star Screwdriver)

No:3-4 Alyan
(Number:3-4 Allen) Montaj Videosu:
(Assembly video)

No:8 Anahtar
(Number:8 Wrench)

NOTE: Please do not proceed with the product assembly without reading the assembly
instructions and important precautions included in the package!!

NOT:Liutfen paket icerisindeki montaj talimatlarini ve 6nemli uyarilari okumadan uriin
montajina baslamayiniz!!



Yo7y (/= 1 -

!

Yildiz tornavida ile camin orijinal vidalarini s6kiniz.

(Unscrew the original screws of the glass with a star screwdriver.)

Paket icerisinden c¢ikan kalin contalar i¢ taraf ince contalar dis tarafa gelecek sekilde uygulayiniz.

(Apply the thick seals from the package with the thin seals facing outward.)

Camin alt tarafina paket igerisinden ¢ikan kisa vida ve kisa burg¢ denk gelecek,
Ust tarafa ise uzun vidalar ve burglar denk gelecek sekilde monte ediniz.

(Mount the glass so that the short screws and short
bushings from the package align with the bottom,
and the long screws and bushings align with the top.)

3 alyan ile camin tim vidalarini sikiniz.

(Tighten all the screws of the glass with a hex key.)



Vo7 (%//// ="/ 10 &

Cam ayaginin gelecedi kisimdaki civatayi
4 alyan yardimiyla sékinuz.

(Remove the screw at the part where the glass
base will be placed using a 4mm hex key.)

Cam ayagini yildiz tornavida ile sikiniz.

(Tighten the glass base with a
star screwdriver.)

Paket icerisinden ¢ikan en kisa
vidalari kiguk contalar dis tarafa
kalin contalar i¢ tarafa gelecek sekilde
3 alyan ve 8 anahtar yardimiyla takiniz.

(Insert the shortest screws from the package
with the small washers facing outward
and the thick washers facing inward,
using a 3mm hex key and an 8mm wrench.)




	Sayfa 1
	Sayfa 2
	Sayfa 3

